~ Chapter 6 - Hess’ Law Examples from Zumdahl 9% Ed

72. Given the following data .
7,( 2CIE(g) + O4{g) — CL,0(g) + F0(g) AH = 1674kI * =
vev Y, (@Ei) +20,g) ~—> CLO() +3F0()) AH=341413 - =}
 (2Bdle) + Onlg) — 2 F,0(g) ) AH = 4341 + |/,
calculate AH for the reaction

CFE)+ B — @) Al= T




(g) — N,{g) + 2H,0()
given the foltoWing dafa:
XF { 2NH,(g) + 3N,0(z) —> 4N,{g) + 31{20(1)) AH = —1010.XJ ()i(\
fev gq(Nge(g) + 3H,{g) —> NH) + H,00) AH=-317k - 4,
rev X 2NH,(g) + %Oz(g} — NH() + H,0()  AH=-143K] «;/q
% Kﬁg(g) + 10,z) — H,00) \ AH = —286 k] . ,{,
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given the following data:
(') Feep INHi(g) + IN0(8) — 4Nfg) + BHzD(I)

Z) rev 3 (M0(@) + 3H(e) —> NaHLD + H:00)
3) v Y (NH® + Olg) — Ng) + 2}120(1)

Hig) + }0x(g) —> H,0( )

AH
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‘ -*317k3 -
=623kl “ - Ll\ =
- 286k ° @) =

ZNH-,C )+3’>‘€O(9) 4-->,‘W’19) + 3RPTT)
'z*) 3, (1] + 3u800) — 38:004) +jH/(




